'K E2NEEBRAE
www.hanwen-bearings.com

MUCP 200 & $%#817 =07 Eedif

Stainless Steel Pillow Block Units

£

H2

HVL S \

!

WS BEWE | g MEARERRY (mm) 9844

H L A J N N1 H1 H2 B S

12 | MUCP 201 | VNY | 30.2| 127 30 95 13 19 11 61 31 12.7) M10
15 | MUCP 202 | VNY | 30.2| 127 30 95 13 19 11 61 31 12.7) M10
17 | MUCP 203 | VNY | 30.2| 127 30 95 13 19 11 61 31 12.7) M10
20 | MUCP 204 | VNY | 333 127 30 95 13 19 11 65 31 12.7) M10
25 | MUCP 205 | VNY | 36.5| 140 30| 105 13 19 11 70| 341 143 M10
30 | MUCP 206 | VNY | 429 165 36 121 17 21 10 83| 38.1) 159 M14
35 | MUCP 207 |VNY | 476, 167 38| 127 17 21 10 94| 429 17.5| M14
40 | MUCP 208 | VN)Y | 49.2| 184 40 137 17 22 10| 100, 49.2) 19.0, M14
45 | MUCP 209 | VN)Y 54| 190 40| 146 17 22 11, 108, 49.2) 19.0) M14
50 | MUCP 210 | VNY | &7.2] 206 45| 159 20 25 11 114, 51.6| 19.00 M16
55 | MUCP 211 | VY 63.5| 219 45, 171 20 25 16/ 126, 55.6| 222 M16
60 | MUCP 212 | VY 69.8 241 50| 184 20 25 19, 138 65.1| 254 M16
65 | MUCP 213 | VY 76.2) 265 52| 203 25 29 20 150| 65.1, 254 M20

aitHAEE 10365 & EE=F177817% TEL:(02)2592-2655 FAx:(02)2592-2662



'K E2NEEBRAE
www.hanwen-bearings.com

MUCPA 200 &% 0%E 7 7 e

Stainless Steel Tapped Base Pillow Block Units

We | mEwE | BAEBTER (mm)

() RIS H L | A @ J N Nt | H1 H2 | B | S
12 MUCPA 201 VN)Y | 30.2 76| 25.5 52 M10x1.5 12 71 60.9 31| 12.7
15 | MUCPA202 |VNY 302 76 255 52 M10x15 | 12| 7 609 31| 127
17 | MUCPA203 | VNY 302 76 255 52 MI0x15 | 12 7 609 31 127
20 | MUCPA204 |VNY| 302 76 255 52| M10x15 | 12| 7 609 31| 127
25 | MUCPA205 |VNY 365 84 30 56 M10x15 | 15 10 70 341 143
30 MUCPA 206 VN)Y | 429 94 34 66| M14x2 18 11 83| 38.1| 15.9

aitHAEE 10365 & EE=F177817% TEL:(02)2592-2655 FAx:(02)2592-2662



'K E2NEEBRAE
www.hanwen-bearings.com

MUCFL 200 <5802 R %% EEd

Stainless Steel Two-Bolt Flange Units

A
<—>

WE | BEEE | g BFREEZRN (mm) 024

(mm) 5 H L A | J N A1l A  a B | s | =Y

12 MUCFL 201 | VN)Y | 113 60 | 25.5 90 12 10 15 333 311127 | M10
15 MUCFL 202 | VN)Y | 113 60 | 25.5 90 12 10 15| 333 311127 | M10
17 MUCFL 203 | VNY | 113 60 | 25.5 90 12 10 15| 33.3 31| 12.7 | M10
20 MUCFL 204 | VN,Y | 113 60 | 25.5 90 12 10 15| 333 311127 | M10
25 MUCFL 205 | VN,Y | 130 68 27 99 16 10 16 | 35.8 | 34.1 | 143 | M14
30 MUCFL 206 | VN)Y | 148 80 31| 117 16 10 18 | 40.2 | 38.1 | 159 | M14
35 MUCFL 207 | VN)Y | 161 90 34| 130 16 11 19 | 444 | 429 | 17.5 | M14
40 MUCFL 208 | VN,Y | 175 | 100 36 | 144 16 11 21 ] 51.2 | 49.2 19 | M14
45 MUCFL 209 | VN)Y | 188 | 108 38 | 148 19 13 22 | 52.2 | 49.2 19 | M16
50 MUCFL 210 | VN)Y | 197 | 115 40 | 157 19 13 22 | 546 | 51.6 19 | M16

aitHAEE 10365 & EE=F177817% TEL:(02)2592-2655 FAx:(02)2592-2662



'K E2NEEBRAE
www.hanwen-bearings.com

MUCFC 200 50 & B R

Stainless Steel Flange Cartridge Units

—} B —
Y N
A2
i |
=4 A
i
L I [ S T T
! '
|
AT <A3
-A
WS | WEWE g WABRERRY (mm) 244
(mm)  E5 L A J | J1 N A | Al A2l A3 H3 B | s |NY
12 | MUCFC 201 |VNY| 80 |255| 78| 551 12333 11| 10| 5 62| 31 127 M0
15 | MUCFC202 |VNY| 80 |255| 78| 551 12 333 11| 10| 5 62| 31 127 M0
17 | MUCFC203 |VNY| 80 255 78| 551 12 333 11, 10| 5 62| 31 127 M0
20 | MUCFC 204 |VNY| 80 255 | 78 | 551 | 12333 11 10 5| 62| 31 127 M10
25  MUCFC205 VNY| 90| 27| 90| 636 712|358 11| 10| 6| 70| 341 143 M0
30  MUCFC206 |VN,Y| 100 | 31| 100| 707 12| 402 | 13| 10| 8 80 381 159 MI0
35 | MUCFC 207 'VN,Y| 110 34| 110 | 77.8 | 14 | 444 |13.5| 11 8 90 | 429 |17.5 M12
40 | MUCFC208 |VNY| 120 | 36| 120 | 848 14| 512 135 11| 10| 100 | 492 | 19 |M12

aitHAEE 10365 & EE=F177817% TEL:(02)2592-2655 FAx:(02)2592-2662



'K E2NEEBRAE
www.hanwen-bearings.com

MUCF 200 58075 iz 5 R %

Stainless Steel Four-Bolt Flange Units

|
!

N

\ |
<+ |

WS | WHFGRERRT (mm) 1244
(mm) RUSE e

L A J N A1 A2 A0 B S

12 MUCF 201 VN,Y 86 | 25.5 64 12 11 15| 333 31 12.7 | M10
15 MUCF 202 VN,Y 86 | 25.5 64 12 11 15| 33.3 31 12.7 | M10
17 MUCF 203 VN,Y 86 | 25.5 64 12 11 15| 33.3 31| 12.7 | M10
20 MUCF 204 VNY 86 | 25.5 64 12 11 15| 33.3 31 12.7 | M10
25 MUCF 205 VN,Y 95 27 70 12 12 16 | 358 | 34.1 | 143 | M10
30 MUCF 206 VN,Y 108 31 83 12| 12.5 18 | 40.2| 38.1| 159 | M10
35 MUCF 207 VN,Y 117 34 92 14| 10.5 19| 444 | 429 | 17.5 | M12
40 MUCF 208 VN,Y 130 36 | 102 16 11 21 51.2| 492 19.0| M14
45 MUCF 209 VN,Y 137 38| 105 16 13 22| 522 | 49.2 | 19.0 | M14
50 MUCF 210 VN,Y 143 40 | 111 16 13 22| 546 | 51.6 19.0| M14
55 MUCF 211 VY 162 43 | 130 19 16 25| 58.4 | 556 222 | M16
60 MUCF 212 VY 175 48 | 143 19 | 16.5 29 | 68.7 651 | 254 | M16
65 MUCF 213 VY 187 50 | 149 19| 16.5 30| 69.7 651 | 254 | M16

aitHAEE 10365 & EE=F177817% TEL:(02)2592-2655 FAx:(02)2592-2662



'K E2NEEBRAE
www.hanwen-bearings.com

MUCT 200 %805 587 EE

Stainless Steel Take-Up Units

i
H
!
R P HEREERS (mm)
B | R .
(mm) pith ER A A
11A2 | H H1 | H2| L | L1 L2 L3 | N |N1| N2| B S

12 | MUCT 201 |VNY | 32 12| 21| 87| 76/ 46, 92| 60| 10 44 19 18| 32| 31|12.7
15 | MUCT202 |VNY | 32 12| 21| 87| 76 46 92| 60| 10 44 19 18| 32| 31|12.7
17 | MUCT 203 | VNY | 32| 12, 21, 87| 76, 46| 92| 60| 10| 44| 19| 18| 32| 31127
20 | MUCT 204 |VNY 32| 12| 21| 87| 76, 46| 92| 60| 10| 44 19| 18| 32| 31|12.7
25 | MUCT 205 |VN)Y | 32| 12| 22, 87| 76 46| 96| 61 10| 44 19| 18 32 34.1/14.3
30 | MUCT 206 | VN)Y 36.5| 12| 27 101 89 52 111 69 10 50 22| 18 37/38.1/15.9
35 | MUCT 207 | VNY | 37| 12| 30 101 89 58127 77| 13| 56, 22| 18| 37/42.9|17.5
40 | MUCT 208 | VNY | 49| 16| 33| 113|102, 74142 87| 16| 72| 29| 20, 49/49.2| 19
45 | MUCT 209 |VNY | 49| 16, 34116102 74143 87| 16| 72| 29| 20 49/49.2| 19
50 | MUCT 210 | VNY | 49 16| 37| 116102 74 147 89| 16| 72| 29| 20 49 51.6| 19

aitHAEE 10365 & EE=F177817% TEL:(02)2592-2655 FAx:(02)2592-2662



IK E2NEEBRAE
www.hanwen-bearings.com

MUC 200 SMKEZR3E R

MUC200V, MUC200V-C4HR20, MUC200V-CR2A

C
|
C1
— }<7
S2 |
ds i —-
‘ | | Jlr
‘ T
|
|
} — | ——
|
da| d| ~~+:~~~f D
|
|
|
|
i
‘ I
|
- S1 | .S
- B -
BERFEEEETE
- FER~ (mm) AN =
EEH TI EE:I 7¥( 1 %)Je- (kN) ==}
(mm) 2290 (kg)
d D B C rmn| S | S1 | S2 ds C1|da| Cr | Cor
12 MUC201V 12 47 31 17| 0.6] 12.7| 18.3 5 M5x0.8 4.5 29| 10.9 53 0.21
15 MUC202V 15 47 31 17| 0.6 12.7] 18.3 5 M5x0.8 45 29| 10.9 5.3 0.19
17 MUC203V 17 47 31 17| 0.6] 12.7| 18.3 5 M5x0.8 4.5 29| 10.9 53 0.18
20 MUC204V 20 47 31 17 11 12.7| 18.3 5 M5x0.8 4.5 29| 10.9 5.3 0.16
25 MUC205V 25 52| 34.1 17 11 14.3| 19.8 5 M5x0.8 4.5 34 11.9 6.3 0.19
30 MUC206V 30 62| 38.1 19 1] 15.9| 22.2 5 M5x0.8 5.1]40.5, 16.7 9 0.31
35 MUC207V 35 72| 42.9 20| 1.5| 17.5| 254 71 M6 x0.75 5.8 48 221 123 0.48
40 MuC208V 40 80| 49.2 21 1.5 19| 30.2 8| M6 x0.75 6.2 53| 249| 14.3 0.62
45 MUC209V 45 85| 49.2 221 1.5 19| 30.2 8| M6x0.75 6.5/ 57.3| 28.1 16.4 0.67
50 MUC210V 50 90| 51.6 23| 1.5 19| 32.6 9 M8 x 1 6.5 63| 30.2| 18.6 0.78
55 MUC211V 55| 100| 55.6 24 2| 22.2| 334 9| M8 x 1 7.3 70| 36.6| 23.5 1.03
60 MUC212V 60| 110| 65.1 26 2| 25.4| 39.7 10| M10x1.25| 7.7\ 77| 446, 28.9 1.45
65 MUC213V 65| 120| 65.1 27 2| 254 39.7 10 M10x1.25| 8.3| 82.1 48.9 32 1.71

aitHAEE 10365 & EE=F177817% TEL:(02)2592-2655 FAx:(02)2592-2662



